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�етод8к4 D4EGет4 пок474телO «УDо6е=L о5Jект86=оEт8 оFе=к8 о5D47о64телL=KE 
Dе7улLт4то6 6 Eу5Jекте  оEE89Eко9 ФедеD4F88» (��  2019)

 4EGет 6=еH=е7о 8=декE4 о5Jект86=оEт8 пDо876од8тEO 6 =еEколLко Mт4по6.
�4 пеD6о< Mт4пе пDо876од8тEO 6KO6ле=8е (<4Dк8Dо6к4) о5D47о64телL=KE оD74=874F89 
E од=8< 87 EледуNI8E пD87=4ко6 =ео5Jект86=оEт8:
746KHе==Kе 7=4Gе=8O EDед=е7о 54лл4 ��  по DуEEко<у O7Kку 8(8л8) <4те<4т8ке 6 4 
8(8л8) 5 кл4EE4E;
=еEоот6етEт68е Dе7улLт4то6 ��  по DуEEко<у O7Kку 8 <4те<4т8ке 6 4 8(8л8) 5 кл4EE4E 
8(8л8) HколL=KE от<еток;
Dе7кое 6о7D4Eт4=8е Dе7улLт4то6 од=о9 п4D4ллел8 от 4 кл4EE4 к 5 по DуEEко<у O7Kку 
8(8л8) <4те<4т8ке;
Dе7кое п4де=8е Dе7улLт4то6 од=о9 п4D4ллел8 от 4 кл4EE4 к 5 по DуEEко<у O7Kку 8(8л8) 
<4те<4т8ке;
Dе7кое 6о7D4Eт4=8е Dе7улLт4то6 од=о9 п4D4ллел8 от 5 кл4EE4 к 6 по DуEEко<у O7Kку 
8(8л8) <4те<4т8ке;
Dе7кое п4де=8е Dе7улLт4то6 од=о9 п4D4ллел8 от 5 кл4EE4 к 6 по DуEEко<у O7Kку 8(8л8) 
<4те<4т8ке.



�етод8к4 D4EGет4 пок474телO «УDо6е=L о5Jект86=оEт8 оFе=к8 о5D47о64телL=KE 
Dе7улLт4то6 6 Eу5Jекте  оEE89Eко9 ФедеD4F88» (��  2019)

�о пD87=4ку 746KHе==KE 7=4Gе=89 EDед=е7о 54лл4 8 =еEоот6етEт68O 
Dе7улLт4то6 ��  8 HколL=KE от<еток D4EE<4тD864NтEO ОО, 6 котоDKE 
6 пDо6еDоG=о9 D45оте уG4Eт6о64ло 5олее 5 уG4Eт=8ко6. �4Dк8Dо6к4 
по Mт8< пD87=4к4< =е пDо876од8тEO длO ОО E по6KHе==K< уDо6=е< 
Dе7улLт4то6 по ��Э 8 от<еGе==KE Dе78о=4лL=K<8 кооDд8=4тоD4<8 
к4к ОО Eо Eт458лL=о 6KEок8<8 Dе7улLт4т4<8.
�4 6тоDо< Mт4пе пDо876од8тEO 6KG8Eле=8е пDоFе=т4 
о5D47о64телL=KE оD74=874F89 Eу5Jект4  оEE89Eко9 ФедеD4F88, 
пDо<4Dк8Dо64==KE EотO 5K по од=о<у пD87=4ку =ео5Jект86=оEт8.
�KG8Eле=8е 8=декE4 о5Jект86=оEт8 длO к46до7о Eу5Jект4  оEE89Eко9 
ФедеD4F88 к4к D47=оEт8 «100-пDоFе=т о5D47о64телL=KE оD74=874F89, 
пDо<4Dк8Dо64==KE EотO 5K по од=о<у пD87=4ку =ео5Jект86=оEт8».















�Dо4=4л878Dо646 6EN деOтелL=оEтL 8 8то78 ��  пD8Hл8 к 6K6оду

• =ео5Jект86=оEтL оFе=ок 6KD46е=4 6 оFе=864=88 уG8телO<8 пD8 
6KEт46ле=88 текуI8E 8 8то7о6KE от<еток 6 6уD=4ле, т4к по DуEEко<у 
O7Kку 6 5 кл4EEе (20197) =е подт6еD6де=4 од=4 оFе=к4, 4 те 6е E4<Kе 
уGе=8к8 6 4 кл4EEе (20187) по Dе7улLт4т4< ��  6Kпол=8л8 D45оту 
луGHе, Gе< 8<ел8 оFе=ку по 6уD=4лу, 4 по <4те<4т8ке 6 2018 7 4 
кл4EE =е подт6еDд8л8 87,5% полуG8л8 6 уG4I8EEO =4 54лл 6KHе 8 1 =4 
54лл =86е Gе< по 6уD=4лу, 6 2019 7оду по <4те<4т8ке кол8GеEт6о =е 
подт6еDд86H8E оFе=к8 E=878лоEL до 33,3% (2 уGе=8к4 6Kпол=8л8 ��  
луGHе 7одо6о9 оFе=к8); 

• пDоFе=т 6Kпол=е=8O отделL=KE 74д4=89 6 Hколе 6KHе, Gе< =4 
уDо6=е <у=8F8п4л8тет4 8 кD4O, =о Eледует от<ет8тL, Gто 74д4=8O по 
DуEEко<у O7Kку =4пD46ле==Kе =4 пDо6еDOе<Kе у<е=8O:

• <оDDоло78GеEк89 4=4л87 Eло6 6 2018 7 4 кл4EE 6Kпол=8л8 100%, 4 6 5 
кл4EEе (20197) 6Kпол=8л8 94%; 

• опо7=464тL E4<оEтоOтелL=Kе G4Eт8 DеG8 6 2018 7 4 кл4EE 6Kпол=8л8 
100%, 4 6 5 кл4EEе (20197) 6Kпол=8л8 92%; 

• 4=4л87 пDедло6е=8O 6 2018 7 4 кл4EE 6Kпол=8л8 =4 75% 8 100%, 4 6 5 
кл4EEе (20197) 6Kпол=8л8 100%.



� т45л8F4E коло=к8: 1 – оFе=к8 74 пDедKдуIуN Gет6еDтL; 2 – оFе=к4 74 �� ; 3 –
пD8<еG4=8е (0 подт6еDд8л Gет6еDт=уN оFе=ку, + по6KE8л Dе7улLт4т, - E=878л 

Dе7улLт4т).

ФИ М4F5<4F8:4 $GEE:89 O7O: О:DG64Nщ89 <8D
1 2 3 1 2 3 1 2 3

� 3 3 0 2 3 + 3 4 +

� 3 4 + 4 3 - 3 4 +

� 4 4 0 4 4 0 4 4 0

� 4 4 0 4 4 0 4 4 0

� 4 5 + 4 4 0 4 4 0

� 2 3 + 2 3 + 2 2 +
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О5щее ?>=и<4=ие и >@ие=B4ция 6 BекABе



О5Iее по=8<4=8е 8 оD8е=т4F8O 
6 текEте



�лу5окое 8 дет4лL=ое по=8<4=8е 
EодеD64=8O 8 DоD<K текEт4



ИEполL7о64=8е 8=DоD<4F88 87 
текEт4 длO D47л8G=KE Fеле9



�=4л87 к4GеEт64 7=4=89 о5уG4NI8EEO 5 кл4EE4 6 ED46=е=88 E пDоHлK< 
уGе5=K< 7одо<

ФИ Г>4>64O 74 4 
:;4EE

К>=FD>;P=O
5 D45>FO 

%D54=89 
54;;

1 ч5F65DFP 5 
:;4EE

 GEE:89 я7ы:
� 4 = 4/4 3,6 4

� 4 4 4/4 3,93 4

� 4 3 = 3,94 4

� 4 3 4/4 3,81 4

 аFе<аF8:а 
� 3 4 = 3 3,44 3

� 4 4 = = 3,8 4

� 4 4 4 4 3,7 4

� 4 4 4 3 3,75 4



�=4л87 о5Jект86=оEт8 оFе=864=8O по пDед<ету

К>=FD>;P=O5 %D.4D 1 ч. К>=FD>;P=O5 %D.4D 2 ч.

�. = 4 4 3,89 4 4 4 4 3,84 4 -

�. = 2 2 3,05 3 3 3 2 3,12 3 +

�. 5 5 5 4,43 4 5 5 5 4,58 5 +

�. 4 4 3 3,7 4 4 3 4 3,58 4 -

�. = 2 2 3 3 2 3 2 2,89 3 -

�. 4 4 5 4,11 4 4 3 = 3,89 4 -

�.2 4 4 4 3,95 4 4 3 5 3,76 4 -

�. 5 5 4 4,19 4 4 4 4 4,16 4 -

 . = 3 3 3,4 3 3 4 3 3,44 3 +

�. 3 = 3 3,26 3 2 3 2 3,45 3 +

�.2 5 4 4 4,14 4 4 4 4 4,17 4 +

Т. 4 5 4 4,21 4 4 4 4 4,31 4 +



УпD46ле=GеEк8е DеHе=8O – о5Jект86=оEтL 
оFе=864=8O

• �=еEе=8е 87<е=е=89 6 E8Eте<у 6=утD8HколL=о7о <о=8тоD8=74. 
• �о=8тоD8=7 к4GеEт64 под7ото6к8 о5уG4NI8EEO.
• ОD74=874F8O 6=еуDоG=о9 деOтелL=оEт8 по пDед<ет4<.
• �=утD8HколL=K9 ко=тDолL: поEеIе=8е уDоко6, 4=4л87 уEпе64е<оEт8, 

4=4л87 Dе7улLт4то6 О�Э, ��Э, К� , �� .
• О5еEпеGе=8е о5Jект86=оEт8 оFе=к8 к4GеEт64 под7ото6к8 

о5уG4NI8EEO.
• �етод8GеEк4O D45от4.
• �о6KHе=8е к64л8D8к4F88 пед47о7о6: куDEK, HколL=Kе Eе<8=4DK.
•  4768т8е т4л4=т4 у пед47о7о6.
• !о6еDHе=Eт6о64=8е E8Eте<K 6KO6ле=8O, поддеD6к8 8 D4768т8O 

EпоEо5=оEте9 8 т4л4=то6 у дете9.
• ОD74=874F8O E8Eте<=о9 D45отK по E4<оопDеделе=8N 8 

пDоDеEE8о=4лL=о9 оD8е=т4F88.


